YSTFF=TY

NIE 2 K % ouT IN GR HDCP NET ks
12 B INIT IEAT 39 39 18 9.2 68. 8 AE
£E £ Fa 34 37 11 2.0 69. 0 £-BG
3L I B 37 38 15 5.6 69. 4 AE
4451 =iE EBE 43 43 86 16.4 | 69.6 AE
5{i B #F 44 42 86 16.4 | 69.6 AE
61z JGE % 52 44 96 26.0 | 70.0

JAb3 WA EF 49 46 95 24.8 | 70.2 RE
81z gE  #Han 46 41 87 16.4 | 70.6

9{sz A =EXAR 48 45 93 22.4 | 70.6 L 12 B
104z S B 48 43 91 200 | 71.0 RE
114z & A& 57 46 | 103 | 32.0 | 71.0 L24i
124uz HE EBEX 45 38 83 11.6 | 71.4

13431 FH = 47 42 89 17.6 | 71.4

144z M2 IEF 39 43 82 10.4 | 71.6

156, KBK FA 46 42 88 16.4 | 71.6 RE
1643z 2 B— 45 42 817 15.2 | 71.8

174z EE &R 45 41 86 14.0 | 72.0

184z FK EH 48 44 92 200 | 72.0

194z I BhF 50 42 92 200 | 72.0 L34z
201z I R 42 43 85 12.8 | 72.2 RE
2142 BHE #Ex 59 48 | 103 | 30.8 | 72.2

2241 i xF 45 50 95 22.4 | 72.6

2361 EF REIAER 50 44 94 21.2 | 72.8

2441 HA SR 43 38 81 8.0 13.0

2511 2 OEX 41 46 817 14.0 | 73.0 RE
26131 F BhEA 44 43 817 14.0 | 73.0

2141 Hth BAR 43 43 86 12.8 | 73.2

28431 AIE  [EE 48 44 92 18.8 | 73.2

2941 A FH 4t 43 42 85 11.6 | 73.4

3043z BRim BF 43 42 85 11.6 | 73.4 RE
3143 Sl ES 49 | 48 | 97 | 23.6 | 73.4

32431 a5 45 45 90 16.4 | 73.6

33131 hE 55 49 46 95 21.2 | 13.8

34431 ey A 43 | 39 | 82 8.0 | 74.0




35131 gLk ¥ 52 41 93 18.8 | 74.2 RE
36431 FHE ED 47 46 93 18.8 | 74.2

374z ZH 13 48 50 98 23.6 | 714.4

38431 BIE FEA 39 40 19 4.4 14. 6

3941 FHEH BX 53 44 97 22.4 | 714.6

404z Il I’”F 49 47 96 21.2 | 74.8 mRE
4141 ZH BEF 52 42 94 18.8 | 75.2

4241 Mk B 43 44 87 11.6 | 75.4

4341 Fe BhF 41 45 86 10.4 | 75.6

4441 W IEsE 51 41 92 16.4 | 75.6

4541 RAEA EF 43 36 19 3.2 75. 8 RE
4641 mE F 52 51 103 | 27.2 | 75.8

4741 BEE ARF 54 49 103 | 27.2 | 75.8

4841 INER # 50 59 109 | 33.2 | 75.8

496 AN EEF 47 43 90 14.0 | 76.0

50131 AR JEF 54 48 | 102 | 26.0 | 76.0 RE
514 wH 5 52 50 | 102 | 26.0 | 76.0

524 ME BF 48 47 95 18.8 | 76.2

531z BEX =iE 53 48 | 101 | 24.8 | 76.2

544z i sh ¢ 49 50 99 22.4 | 76.6

551 g R 55 55 110 | 33.2 | 76.8 RE
561z A fi— 49 48 97 200 | 71.0

571 2% AL 57 52 109 | 32.0 | 77.0

584z BER == 47 43 90 12.8 | 71.2

594z HO HF 44 46 90 12.8 | 71.2

6043z ER EF 56 49 105 | 27.2 | 71.8 RE
61| LEH =%&%F 58 51 109 | 30.8 | 78.2

626 \NEFE T7XF | 55 46 101 | 21.2 | 79.8

634z GEE 55 50 | 105 | 24.8 | 80.2

644z ik —Ef 51 51 102 | 20.0 | 82.0 BBE
656 | HM BEEF 66 56 | 122 | 40.0 | 82.0 RE
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